COPYRIGHT RESERVED VKA(H-3) — Eco (8)
Math Eco & Stat

2021

Time : 3 hours

Full Marks : 100
Pass Marks : 45

Candidates are required to give their answers in

their own words as far as practicable.
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1. What do you meé‘n by Equation ? Describe the

important types of equations.
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2.

Give the demand curve as P =76 —73 D. Find -
the elasticity for D = 0.75.

gin sk P = 76 — 73 D faan gan R @t win <k &= 3w
| St&afh D = 0.751

If demand function is P= 3 +63x then prove that
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A radio manufacturer produces ‘x’ sets per

2
X
weeks at a total cost of Rs ["g +3x+ 100] He

is a monopolist and the demaind for his market is
X = 75 — 3P where P is the price in Rs: per set.
.Show that the maximum nel revenue is obtained
when about 30 sets are 'p\wroduced per week .

What is monopoly price ?
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5. IfA= 4 5 6 and B = - . Find the
value of AB and BA.
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6. From the table given below. Calculate median :
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Mid Value | Frequency
7y farmg g
115 6
125 25
135 | 48
145 72
155 116
165 60
175 38
185 | 22 f
195 3
7. Calculate the standard deviation of the following
series : - -
3 |t @ yA foree st o i
Marks more than Nd.’- of students
3w | Afder  [Toremier & W
0 100

- 10 90
20 | 75

.30 - 80
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8. Find the Karl Pearson’s coefficient of correlation

between the age of husbands and ége of their

wife’s.
ufer o afevdt it arrg & Frefafaa wAfwst & fo
el T ¥ ey Tl s T &
} Husband's age | Wife'sage
N
20 - 14
30 25
0 | 30
50 32
60 40
70 | 45
80 © 65
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9. Determine the trend values of the following by

semi-average method if the average is taken as

from mean :

freaferRaa & ardf wmeaes B gra val g = fufor

Hforg af2 aers A A R |
Year Value
T | T
1999 18
2000 12
2001 10
2002 13
2003 17
2004 15
2005 12
2006 16

- 2007 17

2008 20
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10. Calculate Regression coefficient from the
following data

Frrfea st o) werrn & s qoria ) o
e -

X y
3 3
6 12
9 27
12 48
15 - 75
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